
World War II Statistics
Directions:  Use the statistics to solve the math word problems below.  Show your work on the back of 
this page.

	 1.	 The United States suffered 407,000 military deaths in World War II, and Great Britain had 
388,000.  How many more Americans died than British? 

_______________

	 2.	 The Soviet Union losses included 13,600,000 military deaths and 7,700,000 civilian deaths.  How 
many casualties did they have altogether?

_______________

	 3.	 Of the 6 million civilian deaths in Poland, 2.9 million were Jews.  How many of the civilian 
deaths were not Jews?

_______________

	 4.	 World War II cost the Soviet Union 21,300,000 lives.  It cost the United States 407,000 lives.  
How many more Soviets were killed than Americans?

_______________

	 5.	 Germany’s losses totaled 3,250,000 soldiers and 3,810,000 civilian lives.  How many losses did 
Germany have altogether?

_______________

	 6.	 China suffered 1,324,000 military deaths and 10,000,000 civilian deaths.  How many more 
civilians were killed than soldiers?

_______________

	 7.	 Russia fatalities were 21,300,000 lives.  Germany lost 7,060,000 lives.  What was the percentage 
of German losses compared to Russia’s?

_______________

	 8.	 Poland lost 6,850,000 lives, and 6,000,000 of those were civilians.  What percentage of Poland’s 
losses were civilians?

_______________

	 9.	 Total World War II deaths were estimated at 52 million lives.  Japan’s losses numbered about  
2 million.  What percentage of the total deaths were Japanese?

_______________

	 10.	 What percentage of the 52 million deaths in World War II did Germany suffer if it had about  
7 million deaths?

_______________
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